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Local control is a device to maintain
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In Latin square design’ -
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No. of treatments No of rows and
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No. of treatments < No. of rows and
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Answer the following questions :
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at is meant by analysis of variance?
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the,; procedure of two-way

Describe
classification and construct its analysis of

variance table.
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Obtain the least sqﬁares estimates of the
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one-way classification. , :
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When is a Latin square design used? Explain
the layout of this design and describe
the analysis of variance for a kxk Latin
square design. What are its advantages and
disadvantages?
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ﬂﬁquﬁmﬁﬁ? 2+7+3=12
“What is meant by randomized block design

(RBD)? Describe the layout and analysis

of an RBD. What are its advantages and
disadvantages?
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